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#include<bits/stdc++.h>
using namespace std;
typedef long long 11;
unordered map<ll,int>H;
int N,M,P,ans;// N°x = M (mod P)
11 gcd(1l a,1l b
Ib?a:gcd(b,a%b) ;

1l expow(ll a,ll b,1ll mod
11 ret=1;
;b;a=a*a%mod, b>>=
b& ret=ret*a%smod;
ret%smod;

CVBB ACM Team - https://wiki.cvbbacm.com/


https://www.luogu.com.cn/problem/P4195
https://www.luogu.com.cn/problem/P4195
https://www.luogu.com.cn/problem/P4195

Last

update: 2020-2021:teams:legal_string:lgwza: [
2021/01/22 0 _bsgs

15:49

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:Igwza:%E6%89%A9%E5%B1%95_bsgs

1l exgcd (1l &x,11 &y,11 a,ll
'b) {x=1,y=0; a;
1l g=exgcd(y,x,b,a%b);y-=x*(a/b); g;

11 BSGS(1l a,1l b,11 mod, 1l qaq
H.clear();
1l Q,p=ceil(sqrtimod)),x,y;
exgcd(x,y,qaq,mod) ;
b=(b*x%mod+mod ) %mod ;
Q=expow(a,p,mod) ;
exgcd(x,y,Q,mod);
Q=(x%mod+mod ) %smod ;
11 i=1,j=0;j<=p;j++,1i=i*a%mod
IH.count(i)) H[il=j;
1l i=b, j=0;j<=p; j++,i=1*Q%mod

HIi j¥p+H[1i];
11 exBSGS
1l qag=1;
1l k=0,qwg=1;
qwg=gcd(N,P) )>
fsqwq -1;
k++,M/=qwq, P/=qwq, gag=qaq* (N/qwq ) %P;
gag== k;
gwqg=BSGS(N,M,P,qaq) )==-17-1:qwqg+k;
int main

scanf("%d",&N)){// N°x = M (mod P)
scanf("%d %d",&P,&M) ;
IN&& ! M&S ! P ;
N%=P,M%=P,ans=exBSGS( ) ;
ans< puts("No Solution");
printf("%sd\n",ans);
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